PROFESSIONAL
i EXAMINATION BOARD
pbgmmnon Middle School Teacher
Eligibility Test - 2018
21-Feb-19 09:30AM-12PM

Topic:- Child Development & Pedagogy (CDP)

1) A textbook portrayed boys as intelligent and leading characters while girls as meek and

emotional. This is an exampleof ____. / WW%W@'W@W
U, Safe asfeal &) 99 3R HaaTHe v A R fean ug o

SaTERU &

1. Gender stereotype /%FT?K%HTE_C”
2. Gender discrimination /ﬁ’iT[ ﬂ?{

3. Gender identity /I%FTWCI?IT

4, Gender sensitivity / foRT Tde=iiearn

Correct Answer :-

« Gender stereotype /%FTF%_OIT@?IT

2) Two parallel railway lines of a track appear to meet after a certain distance. This is an

example of i wﬁ%gﬁ%mﬁmiﬁamaﬁ%ﬁwﬁ'ﬁ
ferars usdl ¢ sAPI TP SaERO B

1. Muller- Lyer illusion /ﬁm—w uq
2. lllusion of perspective /qﬁ?@:{ uq

3. lllusion of movement/‘Tﬁf gH

4, Optical illusion /€f@ HH

Correct Answer :-

« lllusion of perspective /qﬁ?}?&[ uq

3) Autismis a ./ aﬁl%ﬁrw %I
1. Attention Deficit Hyperactivity disorder/ STA-3HTd 3ffaafchaar fddR



2. Bipolar disorder/ fggfd! f[dhR (ST3UIeR fEwaiieR)
3. Oppositional defiant disorder/ faueft RS fopR (\’rl'chmqﬁ fSthe %?\’rﬁlé?)

4. Neuro development disorder. / 'CCI\Q\I fap T fadR

Correct Answer :-

» Neuro development disorder. / 'ﬁl\i\l fap Ty fasR

4) A teacher can diagnose a child's consistent failure in school performance as: /QTIFQT&‘IW, ICEIGE
P U H U 9= B IR B adl BT Udl A= 9 & T b dT 8:

1. A concern needs to be escalated to higher management / 3™l UdY_T &b ﬁflm‘%l?nﬁ aaﬁ Gl
TIH T g |

2. A disciplinary problem / 3R ATHD JHIT|
3. A learning disability or special education need / SfRTH e a1 faxy e ot W%I
4. A need to change school /ﬁ?mtraaa%rafﬁ WWT%I

Correct Answer :-

« A learning disability or special education need / SfTH &Wmﬁ@r&ﬁr&nﬁ GHWT%I

5) Blind memorization is called ./ Y TRUM (€S ﬁﬂgﬁ?ﬁ) DedIdl
gl

1. Recitation / H¥dR U

2. Rote learning / e gIRT 3TERTH
3. Meaningful learning / G{Zl:q:uf S{TRTH

4. Repetition / H'_'R-@'ﬁ'[
Correct Answer :-

« Rote learning / e GRT 3TERTH

6) Which of the following is the correct order in lesson plan? / FFrafafaa 9 | w1 ureasy
GIeIT ¥ W PH 87

1. Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ aTUﬂ-L—I%glra-g"l l;li\flnldNUI -
. Y
Holh - [ HHJGRI

2. Motivation-Presentation-Evaluation-Recapitulation-Home Assignment / W—W—W-
[l e N
JAYSIhRU- 7§ THICR




3. Motivation- Recapitulation -Evaluation- Presentation -Home Assignment/ URUTI- Q_"l'q\ﬁﬁa;\"m
eI -IR - T8 TR

4. Presentation - Motivation -Evaluation- Home Assignment — Recapitulation/ Qﬁ_la _ DRUT-
. Y (of
- g YHICRM - THh Y

Correct Answer :-

+ Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ W-Qﬁlé-%ﬁw -
. o
el - g YHIGRH

7) The method of study used by Behaviorists was: / AAERAT Al gRI Ugod g AR D]
A

1. Survey/ Vﬁ&FUT

2. Introspection/ STHMARET
3. Case study/ I !

4. Observation/ AQIH

Correct Answer :-

» Observation/ &ra(fﬁm

8) The religion to which the individual child belongs is part of the ./ ¥ fora safaeTa

T Hafagaisds_ sIfitwa gl
1. Inheritance / AR

2. Prenatal environment / W gfaRur

3. Social environment / FTHTTE TITGRU]

4. Physical environment / HITdd TTTaR0T

Correct Answer :-

« Social environment / YT TATGR0T

9) Personality tests must be/ o ydteror fA= a"_'lT ﬂ'[%l'{;
1. Gender biased/ foiT T&faTalt

2. Have as many questions as possible./ 3w I 3ifees U ara

3. Reliable and valid / TI%=T 3R a9

4. Innovative / TATAR]



Correct Answer :-

« Reliable and valid / fa%1a 3R a4
10) During the process of child development, / ¥ & fd®™T &1 uftrar & IR,
1. Specific functions are followed by general functions. / fafary EI'TITf, T ST & d1G fhd ST % I

2. Both general and specific functions happen simultaneously. / HTHI 3R fafry BRI gAY Uh 1Y g
gl

3. General functions are followed by specific functions. / HTHI W, fafry Pl &b G [ o % I

4. General and Specific functions are not dependent on one another. / HTHJ 3R fafry WW—W W
R8T &)

Correct Answer :-

» General functions are followed by specific functions. / ITHII Eb—lﬁ, ﬁiﬁﬂg fﬁlﬁ & CI+ IE NI % |

11) Dalton Plan does not have:/ Siee YISTT (@ﬁﬁ‘[ A1) s i qﬁ%

1. Self-paced learning / X8 SiRCEl|

2. Time table / HI-GRUN

3. Co-operation / &g

4. Freedom / Xdd=dl

Correct Answer :-

o Time table / HI-FROT

12) Understanding what is right and wrong forms part of the development. /w Gﬁ?

Ted & GHH 84T, o famra w1 e B
1. Cultural / GRp D

2. Social / FTATTH

3. Moral / Afd®

4. Vocational / STANTAd

Correct Answer :-

e Moral / aﬁﬁﬁ

13) According to Erik Erikson an individual goes through developmental stages. /W

TREEA & VR, TS Afad fasTaTe® TN A e ToRaT 2|



1.7
2.9
3.4

4.8

Correct Answer :-

14) How are learners who do a task with performance as the goal are characterized?/ A&d & Y i |

TSR & ATY Th B B3 ardl Rrenfiay &1 fa=ivar «am g2

1. They engage in work to do better than others./ d GER] 4 S8R ®R & g HTH A AU gl & |
2. They see mistakes as an opportunity to learn/ d T} BT TRIA P TIR F U H WA & |
3. They want to be seen as smart and intelligent/ § TS 3R THSIER feaT 8d B |

4. They compare and judge their performance with others / G| gﬂéf & 1Y 394 uq-‘zh P SNEL B
2 3R P I IR 7 |

Correct Answer :-

 They see mistakes as an opportunity to learn/ J ATl &I TRAH o AR & &0 H ¢9d %l

15) A child is unable to learn a new way to play Uno because he has already learned a different set of

rules. What could be the reason for this? /Wﬁﬁ@ﬁ%mwwﬂm%ﬁ
a3 Fife a8 ved 9 g o Ay A g1 8 1 SHST F1 FRUTE 9Hdl 8?2

1. Spontaneous recovery / gl ﬂqm

2. Retroactive interference / t[-:g::-@'ﬂ"@ﬁ JHARY
3. Proactive interference / &@ﬂﬂ@ &Iﬁlﬁ Y
4, Delayed effect / IERIESER G

Correct Answer :-

« Proactive interference / 3‘@7113@ JHARY

16) A child says that his friend who is 5 feet tall may be older than his uncle, who is only 4 feet tall
.This approach of interpreting age by height of an individual can be attributed to a child in /

U 91 Hedl 8 [ IHBT I Sl 5 BIe a1 8, I8 31U IT<T A I81 8§ ghd1 §, St
Pad 4 Bie a1 2 | frdl sl & Sars 3 saren w31 & 39 RSB Bl |
= &1 TR 83T o1 g dr g

1. Formal operational stage / AT AfpaTHD AT



2. Sensorimotor stage / YOI ST
3. preoperational stage / lﬁﬂm SHAWT
4. Concrete operational stage /H?f TihaTHD TR

Correct Answer :-

o preoperational stage / Qﬁw SHART

17) Which of the following does not negatively affect prenatal development? [FafaRead g«

W | 7d 811 a1d AP &t TeRIES U A gHIfad T8 Far 8?2
1. Caffeine / HHIA
2. Exercise / AIIMH

3. Alcohol / RRId
4. Radiation / faféxor

Correct Answer :-

o Exercise / ITIMH

18) Which of the following is not a type of prelinguistic speech? fFrafafeada Can| Udh UhR
o1 Miiifaes wia T8 82

1. Cooing / foaer

2. Babbling / dSISIHI

3. Telegraphic speech / TRt HTHOT
4. Crying / AT

Correct Answer :-

« Telegraphic speech / AT HTSOT

19) Which of the following is an example of fine motor skill? frafafeadd o= 3Py Hiex
DI PTTH IGTEIV &2

1. Climbing / de-l
2. Hopping / WW
3. Running /?IEFIT
4, Writing/m:ﬂ

Correct Answer :-



« Writing / INECE]

20) What is the part of memory that stores previous experience? / Wﬁf Pl de %T\‘" <! fusd
YT P TULd BT 82

1. Procedural memory / HishaTcH® F:jﬁf
2. Non-declarative memory / R-AYUMHB F:jﬁf
3. Semantic memory / 3{ ?‘fgﬂﬁf

4. Episodic memory / URifT® (EW%G?) Fﬂﬁf
Correct Answer :-

« Episodic memory / PIRITED (Qﬁl@‘%ﬂg) Fﬂﬁf

21) What is the term used to denote a thinking strategy that may lead to a solution, but also may

causeerrors?/wmﬁﬁﬁww%mmmﬁmﬂmmgﬁﬁ
TUTYT ¢ APl §, URg S9H Ffear Wt g1 a&dl 82

1. Intelligence / @@
2. Syllogism/m (wm')

3. Algorithm / QE’”I?W
4. Heuristic / WY1 (TIdl: QM)

Correct Answer :-

« Heuristic / Wﬂlﬂw (ad: Qﬁﬂ)

22) What characteristics are depicted by permissive parenting? / GIW UTAH-UIY 0T IR PI-

W faivart fafia gt &2

1. High warmth, high control / 3 T8, 3 a1

2. High warmth, low control / 3= 3HTg, g fAgz
3. Low warmth, high control / ¥ I8, 3= fAg=01
4. Low warmth, low control / ﬁ'{;[ 3Tz, ﬁ'ﬁ IGREL]

Correct Answer :-

 High warmth, low control / 3= 3G, g gz

23) Who among the following does not propose a developmental theory involving stages of

development?/mﬁﬁﬁmﬁm%wa@ﬁmmﬁwqﬁ



fear?
1. Freud / WIS

2. Bandura / SGRI
3. Piaget / ERI|

4. Erikson / Qﬁ’ﬂﬂ:{

Correct Answer :-

« Bandura/ TG

24) People with linguistic intelligence possess? / ﬂ-rrq'rs‘ m ¥ 9ud afeaal & e=-3dt
& Bieil 82

1. sensitivity to numerical patterns/ RSTHb Jgid & Ufd Jagafiaarn

2. abilities to produce rhythms/ <Id/dTcd ST P &

3. appreciation of the forms of musical expressions/ g P SffHafaddl & =i Bl SNEEL
4. sensitivity to the sounds, rhythms and meanings of words/ ‘Eaﬁ, EIGINEEIR Ueal & 3ff &

gfd GagA=ied

Correct Answer :-

« sensitivity to the sounds, rhythms and meanings of words/ ?ﬁlﬁ, /AT 3R U3l & 3uf &

gfd GgA=itad

25) What is the main purpose of state certification of teachers? / FR1erel @1 Isa
THTOTYS S+ T Y& Se,x9 18?2

1. To exclude from the profession those who are mentally unhealthy/ S A& 0 ¥ 3a® % B%
U ¥ 9161 3 o forg|

2. To exclude from the profession those not trained in pedagogy/ FRIETRIRA o ufRrfard
T8l 811 aTel BI URY I §18R = & Iy |

3. To monitor the quality of teacher training institutes/ [R1&@ UfRT&f0r TR B oral
B TR BT

4. To provide for a uniform standard of entry-level teacher competency throughout
the state/ I T H TaRT TR o R1& Il 1 T JH HFS UG B3 o Q|

Correct Answer :-

« To provide for a uniform standard of entry-level teacher competency throughout
the state/ I T H TaRT TR & R1& Il 1 T JH A UG B3 o |




26) CANCELLED
What is experiential education? / SJHATHD QT&‘IT T %?

1. A curriculum with well defined students learning path / Y U[GIhH forad st g ABE &
SIFRTH ST AN aRYIE B

2. An educational philosophy based on the idea that learning occurs through experience / Y ‘«ﬁﬁ%@ E’Szﬁ

29 faaR W snemid g fob Sifermy, eya & e A g g |
3. It is learning through experiments / dg Hﬁl@ & H1emH T S %|
4, Learning through continuous practice / fFARAR 31T S{fTH |

Correct Answer :-

 An educational philosophy based on the idea that learning occurs through experience / T ﬁf&@ aQi:i

39 faR W semd § fob Siftma, srva & mem A gar g |
27) CANCELLED

According to Maslow, which of the following needs are referred to as the Deficiency Needs? / m

& R, g srazg@arsii § @ frd Hit B smazawdr & ©U | ST 91T 82

1. Belongingness, Esteem, Safety, Self-actualisation / 3{UATY, HI-UdT, Y&, 3TA-Rifg

2. Safety, Belongingness, Esteem, Self-actualisation / &I, STUATUA, HIIdI, 3A-Rifg

3. Physiological, Belongingness, Esteem, Self-actualisation / QI|€||§$, YA, HIdT, GW-@”E

4. Physiological, Safety, Belongingness, Esteem / QHi”Qa;, RET, HAUATYA, HId]

Correct Answer :-

« Physiological, Safety, Belongingness, Esteem / QH%”#@, RET, HAUATYA, HId]
28) CANCELLED

Which of the following describes relevance in relation to a new topic?- / fafafead a CaC|

U U faug & Hey § ursfedr &1 quiq &=t 82
1. The perception that something is worth knowing/ 3T fob PS IEERI(En] %

2. A real life situation / Uh aRdfdep Sita o1 fRUfd
3. A story related to the topic/ faw 9 deferd TP HeH
4. Same for all learners in any context/ fpadt +ff Yauf & it fRrenfiai & ﬁﬂ HHH

Correct Answer :-

« The perception that something is worth knowing/ 3T fop P ST arg %



29) Which of the following tests involves the analysis of stories and interpretations of the

underlying personality? / ﬁ'ﬂﬁl@ﬂ tlﬁ&-ruﬁ ﬁ' '\ﬁ mﬁ GH'ﬁ'ﬁ%a m T:Iﬁ
HEIl 3R ARSI &1 fazawor mfaa giar g2

1. Thematic Apperception Test / fawg srerae= aRiem
2. Ink-Blot Test / TTg1-&eslT URT&0T

3. Word Association Test / Rleq T gteqor (a@f Q‘Gﬁﬁ@f:{ %E’)
4. Story Telling Test / P YUT Al Qﬁ&rm

Correct Answer :-

. Thematic Apperception Test / [d&d ST URTE0T

30) which of the following is correct sequence of motivation? / fafafea s s an
TR HT AT 4 32

1. Drive, need , goal directed behavior, goal achievement, drive reduction / Ul , ARG dl, d&d

SR cIdeR, Wed Iualsd, TuNG gy

2. Need , drive reduction, goal directed behavior, goal achievement, drive / 3R d], I;I'Uﬂ_c{ ', d&d

SR agR, d8a Iudfs, yuie

3. Need ,drive, drive reduction ,goal directed behavior, goal achievement, / 3{TdRIDH T, Q'Uﬂ—c{, oG

B, &g SR S8R, &g Iudfs

4, Need ,drive, goal directed behavior, goal achievement, drive reduction / H[dRYchdl, Q-Uﬂ_d, A&

FCRId TaeR, d8g IUdis, Uulie g

Correct Answer :-

 Need ,drive, goal directed behavior, goal achievement, drive reduction / 3{[dRYch ], EI'Uﬂ—C{, o&d

SR TaeR, J98g ITdis, Uulie g

Topic:- General Urdu(L1GU)

1) % =
?:f_.u,fy(udiéf “L-,fl,'ldﬂl/{r:_.g”:.d
| o =



5 [_5!:";,/_5}

_JLFL#LLP

4,

Correct Answer :-

2)

1.
N
, U

.
3.”M

Correct Answer :-

&r

Correct Answer :-



4)

ERSIP N T
1 (‘h‘l{:;} -y

i3 a0 & K
2. ™

; Jo1ss s Z =2y

. T P Y-
Correct Answer :-

(‘b’ .z s Py

5) -
1y gufﬂﬁ‘}u&g;rfj 5/
2007

1

2000
_ 1995

2015
Correct Answer :-

2007



a2
|
EBC3
S
Ol s>
3.
| o5

Correct Answer :-
BE

) -
’ T:f_.u,f)(._.iiﬁ"b/“c)fj}r:;”dq
u,r:)ijﬁjj
1;- m
o/l

S5 S

4,
Correct Answer :-
Vs |
ok

Sl

3



% ?%krfs‘;LPEjﬂﬁyﬁ-djﬂj

S
10) 2 )
Slagsi Hjﬁ*'{'a?}u%ﬁ’ﬂgyfj i35}
F:."' L
1. s
}:.JJKUIT
2.
, ST es
FOALLEAT
4.



11) . . S .
S KIS A

z=
1 Sz

O
12) . 2 .
?;f_.uﬁfﬁjfdfﬁf;:fdfwwwfziﬂdj
}IJTJ“’ A7
1.
, Lie it
L‘,flyjjf
3,
;&;J’Jﬂu

Correct Answer :-

13

) - 4 -
W ot 2 u’r;cjf' JfJ 15/

uﬂ/d; e

1.



A 2o
2. -

L&'J{Cfrt'";f‘wlﬁj’;"lf
3.

L.&‘J‘LJL:/:’:?IE:E’?
4,
Correct Answer :-

th-”urt;/;f’wlp_ij’;"tf

‘= Gl LS Hlaine

G S e O

1.
Sl 1€ (e )
2.
CRe))
3.

V5 g5 (e )
4,
Correct Answer :-

e_‘;JLa.lS.L‘H..nJ

15) @ & i
?ﬁ.JgTLl;j;JIfLi;}?JLwL}J “u’gbdbf”

LAY

1.
=4



LI A
1.
Ll ¢ 43
2.
LS &L
3. [
. r"'"" ..
e e S8
4,

Correct Answer :-
- rf ' e E.: :
Vo e
i =
PRV
. ] ':".?3 < .
S UL g $N5 Lo,
Qe indl st b tor F LS

I AR AP,

Lol
1.



ekl ey

2.

.
Jolil s

4.

Correct Answer :-
Oy Ay

P e YT L P e iU

L-rr-? Ve
2. = If
uﬁt‘/rj}( =~y

B3



Correct Answer :-

B 7
20) e =l e
e Vo P
1 s

3.
i

21)

T%—Jlf‘lf(; “Bwuﬁ%fl_.”ujlf

AP

. .

- .

, Vo Yo
V< e
v Sl e

4, .

Correct Answer :-
-
V¥ Yo



4
,
3.I/;#F
a4

Correct Answer :-

Wbl o
EgdrtE g

24)

vuggkr'flﬁdubrf/ﬁ%

1 L_fk“

2.u/

e

3.



S

5, ¥

Correct Answer :-

25) . . ] )
T.:;.Lﬁ,._.ul/? E“r%.”ﬁﬂ”fur)ﬁ"—'-*ﬁjﬁ
ke
1.
, Sy
T

. uﬂ/ﬁg

Correct Answer :-

26) _:Jﬁrlj_;ﬁ‘r‘!l
1. .rr?/f

, 12
s

. Y



27

) - -
?-‘i-\.f’,l(rsf “UF,?”E,&]

1.
L-‘I'La'EJ'
2.
e
3,
it
4.

Correct Answer :-

28) b o
?Ij‘fu:.-'r;,.f'}':{{_‘,rlﬁjﬁf

1857
1947

2

1950
. 1957

Correct Answer :-

1947

29) . g .
Ul LA W o)

1 dbu,&-&:

Je gﬁ

2



30) b
O st p s 0

1857

1950
1957

1947
Correct Answer :-

1947

Topic:- General Hindi(L2GH)

1) T EI 9 Fredera Re &1 o b 3 81, 59 31 A1 Us haist 8| 3@ T8 81 7! U dRIG Srul

ot & Toar & wewsTdl Teet 7 | favra g1 A @ A g fekare) ae 9ga 81 §1 gH 9 8), 9 g% e
AT 3i7aT § o g T fo 8, TR Taa snfag &1 9yt Uil 3 1 )R geR wH % SIS avuta=n wedta 781 gt
arEl Wie @t A B & 916 A 1 TeeHiew ot 3a 99T Tie W A8 v 4, foran wHa g0 ue S am v
WY TR M B gH 37 YR TRUL-HHa! 3t 317 A8 i 1R 3ifd 7 g&, o U A0t Taey g itfa & foran,
o A e e &Y So+ ggr 3@ oft; g0 A8 Fret g @ie g | 3@ g die weh, Sfafy R W &
fore g 9= Tuy srufd B13 ergy 8 | 1 e gl gt 1Y yaRedl?

ST TR B UgHR - fAT T Uy BT IR 918y :
T - A A AT A Fa ey T w7 Rrar g 2
1. g

2. Tt



3. R=dert
4, MT3-HTS

Correct Answer :-

2) T E1 93 Friwra Reive 1 Jan e R 8, 39 3t A o $oisT 31 3@ T3 81 7 1 SH A Srot

o & Toa @ Bewerd! wdl ¢ a4 R @ § R e ariid 9ea T § | g9 94 9, SRR 9% e
AT 37T B T T Aty R 8, g Jaa snfaa &1 dtr Uikl 3 | iR g 9 b 1 euTas wefta w8 gt
e W A A 1 P 916 4 ST e Hiey +ft 399 9WY i W) T8 v 3, raa 99a g0 ' Sid-f am ar
WY TR 3 B gH 371 YR TRUL-FHa! B D17 A8 79 1R 3ifpd H7 g&, gr U At Taey gord Ritfia & feran,
o A8 e et &Y So+it wgm @ oft; gu A8 Hrot g @i g | o g die weh, Sifafy  geR WM &
e g 9= awa srufd 313 esd 8 | T g gt gt 1Y gaRal?

ST TR $I Ugh - f3T 7T Uy o7 IR 9413¢

TR - AP FasT Bl aRie Sifafy wt iz wif aea @8 2
1. TGP AT BT 3D 3 B! fAf SfavTd BT X5l &

2. Age Bt e U Slep TET 8

3. Fifch @D bl Ueb-Ueh f&T HRI &1 5T U

4. JURYad it

Correct Answer :-

o SWRIad gt

3) T el 98 Fieta Re 1 o % T2 81, 39S 3% 9 TP Sl ¢ | ST @ 81 1 ! SHST A (ot

AT T & Bewerd el o1 favra ) R & g feaTey arde 9¢d TeT § 1 g W4 1), 8RR g fewe
T 3i7aT @ b e <t R 8, Trery waa anfaed &1 9yt 4 R 1 I g oM b 18 awTaeT wedta dt et
arE) et @l O B & a1e 4 A1 T ATew Wt 57 gHy Aie W TE w9 3, R wwa gu ve S amn e
Y TR M B g ST YR TRUL-Hal Bt 317 A8 i 1R $ifd w7 g, o U A0t Taey g Ritfua &= foran,
TH B enffep Wftwrait 3t Aot g T ofY; gH T F1wt ) @ie g | ore qu die Sad, fafy | gRR WM F
fore ug = awy Sryfa grs ersw 8 | T g gl gt T8 yerRdl?

S TR F UgHR A1 AT 71T Y BT IR Fa1sy
T - A fhad W § 2

1. fffy &

2. 3 Tl 4

3. ol gey 9§

4. fgae ¥

Correct Answer :-

. Sffaly g



4) T EI IS Frieta RN &1 a1 % 32 81, 39 31 A TP HasT 81 3 T2 81 7! gHS aRid 3ot

e & Toar @ Bewerd! wedl ¢ e 4 R @ § R fimme ariid 9e a1 § | 99 94 9, SRR g% e
TR 31T € 6 T <t i3 8, grer wad anferea &1 3t i) 3 1 R geelk o 9 #1E wwira udta 78 gt
Tl et Tl e $39 & 916 A S geeFTed ot sa9 WY i WR T8 v 4, Rran I g9 te Sid-f am aw
W TR 3 8 1 gH 30 U RUL-BHE! BT BTY A T W 3ifhd H g&, g7 T A0 Heay gord wifia & o,
T {8 anfife Warel 3 ot wgm 3@ oft; gr A8 S frdt wig g9 1 o gw die we, of il R o &
e g 9= auy srufd 813 oTsd 8 | 71 g8 gt gt 1Y gaiRal?

ST TR HI Ugh - f3T 7T Uy o1 IR 94134
TR — g8 <I5H &7 3 g2

INECRED

2. qIHTI 9HY

3. BT HHY

4, 3 JHY

Correct Answer :-

o 3 YHY

5) g0 gl 96 Frista Re 1 g % 33 81, 50 d1% A TP Sl ¢ | 4T T8 81 1 ! THPT A 3ro=t

Tt & Toar A wewsTdl Teet 7 | favra g1 i1 @ A g ferare? ae 9ga Te1 § 1 gH 9 8), 9 g% e
T 3i7eT ¢ o g <t fo 8, TR Taa snfag &1 4yt Ul 37 | )R geR wF % #1$ avuta=n wedta 781 gt
arEl Wie @t s HA & 916 A SN TeeHiew o 3an 99 Tie W A8 v &, e 9wy g0 ue S amn v
WY TR M B gH 37 YN TRUL-HHal 1 317 A8 579 1R 3ifpd H7 &, o U A0t ey g Ritfa & foran,
o A9 e e &Y So+ ggr @ oft; g0 A8 Frot gt @i g | 3@ g die weh, Sfafy R W &
fore g 9= Tuy srufd 813 eTsy 8 | 7 e gl gt 7Y yaRedl?

IUYT TR B UHR 19 AT T ¥Y BT 37 I13¢ :
T - e T e =M F=u e ?
1. S

2. 4914

3. T
4. @

Correct Answer :-

6) UGl IV $B TIIEI @

SEE SRR
PHESIEIRIN G S

TS 8 &1 A it v ot @ g
Y T BT T IS P AT §

T SRIRG HT 4T YIS &1 AT §

3q Y5l SUN & g RaTaT Wewersit
3R UB-FT FE 3 A W2

Y 9§ $9 § gFR U



3T I UT-1 T 3T T BT
TMAG PR o PIs TgdHT SN I 3@ I

ST U B Ugd A1 AT 71T Uy o1 IR 94134 :
WA — A BT THFTS 2Teg 781 82

1. BT

2. 35T

3. gad

4. 3afy

Correct Answer :-

7) TEI A TV T @

I O T TR

T wfa &1 YR e

U& 8 71 A it v et @ g
Y TG BT T IS P AT §
SR AT BT AT YIS P AT §

39 g8l U o T Grarar @ewelait
3R US-F1 g 3 A W2

WY 98 $H ¢ TR TN
3T AT YT S T 3T IGT 3[hTH

MG YR A HI TgdHT SUR A & B

SU T U= B UgpR A1 fU 7T Uy &7 IWR Ia18¢ :
U= - U Teg A P AT R ]2

1. gfee

2. TTH AP TN

3. G fef

4. TSI

Correct Answer :-

8) UgI Il $© T TT 3
SEEGRR

TeT wfa &1 W e

T & 71 9 Qi v Wit @ g
Y T BT T IS Pl AT §

T SRIRG HT IT4T YIS &I AT §

39 Tgt IUTY fob X AT We@ersi



3R UBI-F1 81 a1 |2

TG 9gd $H & GFR TN
3T IdT T SBT 3T ¥@T BT
TMAG PR o PIs TgdHT SHW I 3@ P

ST U HI Ugdx A1 AT 71T Uy o1 IR 94134 -
U - UagTs &1 Nad fha wg & Smar g2

1. a9

2. Uieg

3.%RG

4. gHd

Correct Answer :-

9) UGBTI $O TATT 8

SE LR R

i wfa &1 YR e

TS €t o 4 @it s et @ g
Y 9 BT T UaSTS DI ACT R
SR AT BT 14T YIS Y AT §

39 Yg! SUN b g% qraTeT Wewersit
3R IS I 8 At R

Y 9gd $H & gFR U
3T TET UT- SBT 31T X&T hTH
MG YR A HI TgdHT SUR A 6@ B

ST UL B Ugh A1 AT 71T uy o1 IR Id18¢ :
W - T fe o gforar =t gt ot 32

1. -t

2. 3

3.7

4, R

Correct Answer :-

10) T§1 I PO TAEI

AV O TE T 7

a5t Wi &1 W e

T & 71 9 QR v Wit @ g
Y T BT T IAS P AT §



SR AT BT T UG B AT §
39 TgT IUTY fob Y RATAT We@ersi
3R YR g8l g a9t e

WY 95 W ¢ TR TN
3T IET YT ST 3T 38T BT
TMAG PR d PIs UM SN I 3@ I

ST U BI g A1 AT 71T Uy 71 IR 9134 -
TR — GIATSIT 1 qatgardt 82

1. fdar

2. I

3. foreTm

4. lch

Correct Answer :-

11) TEIAA PO T

3 T e T8

g1 wfa &1 YR e

U gt o 4 @it s et 8 g
SR 9 BT T USTS DI AeT R

S AT BT AT YIS P AT §

39 TB IUTY fob R RATAT We@erail
3R YR g8l g A e

Y 9gd HH § TR U
3T TT YT 8T 3T ST 3PT
TMAG PR o DS TgdHT SN I 3@ I

ST UL 61 Ugep A1 AT 71T Uy o1 IR Ia18¢ -
W - Ud HiadT frd a1 &7 Y Het 82

1. Sitg Foft ot FRR =151 g 51

2. Sfia ufkad-=id g

3. Sftad I AT BT 4RO el 6|

4. IR Tt

Correct Answer :-

. SWRIad gt

12) I8 A T G 3
I O T TR
TP IR



U@ 1 o & it ug it 8 gl
R I BT T UaSTS Bl Al §
Y ARG BT 7T YIS B AT g

34 YB1 IUTY fb R RATHT Wewerail
3R UB)-F1 98l g at 'R

Y Igd HH § TR U
3T T Tt ST 3T T BT
MG PR A HIS UgAHT HUR A $ B

IUYad UL ) Ugeh? e fAT 7TE Uy &7 3<R Ja15¢ -
U - Tgd SiaaT A fd fra sa A aargpa g 2

1. Had AdHIHROT

2. Hdd eI

3. had ggald URd

4. IRIad gt

Correct Answer :-

o SWRIad It

13) UBI AN $B T2

3 T e T 8

g1 wfa &1 YR e

T €1 ot & qrrit us st @ gferan
R I T T UaSTS Bl AT §

S SRIRG BT 4T YIS B el §

3T g1 IUT P g AT @ewersit
3R US-F1 ¥E g A W2

WY 9gd $H ¢ TR TN
3T TAT YT ST 3T BT 3IPTH

TMAG PR o PIs TgdHT SHW I 3@ P

ST UL &1 Ugeh A1 AT 71T uy o1 IR 9a18¢ -
U= - YRgd Sfdar fg ufvawr wr smenfya 82

1. IrHior gfkawr

2. XE<I UIRaRT

3. fac=it uRax

4. AT TRaR

Correct Answer :-

. el uRaw



YgI A $O TGI8

I O T TR

g1 wfa &1 YR e

U& 8 71 A it v et @ g
SN 9 BT T UdSTS DI ACT g

S SRIRG HT 14T YIS &1 AleT §

39 gg1 IUT s g% qraren @ewersit
3R US-F1 g 3 A ;R

UG 9gd $H § gReR U
3IT AT YT S T 3T I8T 3[hTH

MG YR A BT TedHT SUR A 6@ B

SUYT U= B UgpR 14 fT 7T ¥y &7 IWR Ia18¢ :

WX - Bfaar ¥ B 3u=T Bt uge F e w19 W giea T w1 a2
1. B GRATS oW &l

2. Wfadl & arg 3@ ot

3. 590 Q B TEl

4. T8 Ul feRahR YR B Bl

Correct Answer :-

o B TSN YT Bl

15) UG I PO AT &
SEESRR

g1 Sfa BT 4T e

T 8 o & it o ol & g
O T T TG UdSIS Bl AT g

S SRIRG HT 4T YIS &1 AT §

3 Tg! IUTT & g el Wewersi
3R IB)-F T g g A W

Y 984 $9 ¢ gFeR U
3T IAT YT ST 3T IET 3[hTH

TG PR o DIg TgdHT SHW I 68 B

ST UL o1 U A1 AT 71T Uy o1 IR 9a13¢ -
W - B3 B fP W HLE 82

1. T §d HHH 9

2. UgIE & ANl 4

3. U A W

4, 3FTST AR

Correct Answer :-

. T HA R



16) UBI AW $B TTIWT?

AT P UCET &

Tg1 wfa &1 YR e

U gt o 4 Rt s et 8 g
R I T TR UaSIS &l AT §

S SRIRG T ITAT YIS &) AleT §

S g1 IUT P g AT @ewersit
3R US-F1 g g A W2

WY 95 $H ¢ TR TN
3T IAT YT ST 3T IET 3(hTH

TMAG PR o DS TgdHT SN I 3@ P

ST UL &1 Ugep A1 AT 71T Uy &1 IR 9a18¢ -
W - <JATHTRC HT UaTgard! g1 82

1. 3R

2. 3TAH

3,94

4, faar

Correct Answer :-

17) UGTAA $B QT8

3 T € T8

g1 Wfa &1 WRIET e

TS 8 fa § Rt ug et @ g
Y T BT T IS P AT §

S SRIRG HT 14T YIS &1 AleT §

39 Yol SU b g% RaTeT Wewersit
3R US-F1 g 3 A ;R

WY 9gd HH & TR U

3T IET UT- SBT 31T ¥&T hTH

MG YR A BT TgdHT SUR A 6@ I

SUYa U= b1 g e fAT 71T Uy &7 3R Ja15¢ -
U - 92TE 3R HTS & T SI=-PI IT HEHT 31T 32
1. Bfcid, 3T, AT

2. B, T, e
3. J9, AT, 9
4. Y, 3NTE, HIa-

Correct Answer :-



18) UG IV PO AT &

A9 $T U @I 8

gt fa T 4RI T8

TS 8 fat # Rt ug ot 8 g
R I BT TT IS B AT §
Y ARG BT 7T YS! B AT g

39 98 IUT o g grare We@erait
3R UB-F1 ggt g A R

Y 954 $9 8 TR U
3T T YT SBT 3T I§T BT
TG PR o DI TgdHT SHW I 48 B

IUYad UL ) Ugeh? e fAT 71U Uy &7 3<R Ja15¢ -
U= - Y[5 Xeg BT 99 DIFoA?

1. BT

2. 3BT

3. 3BT

4, 3P

Correct Answer :-

19) UBI AW $B T2

A PO T ET T

g1 wfa &7 YR e

T €1 ot # qrrit us it 8 gieran
S I BT TR UaSTS Bl AT §
Y ARG BT 7T YS! B AT g

3q g1 U P g AT Wewersit
3R YR g8l g 9 e

WY 95 W ¢ TR U™
3T T T 8T 3T BT 3PT
TMAG PR d PIs TgdHT SHW I 3@ I

ST U HI Ugd A1 AT 71T Uy o1 IWR 94134 -
U - 59 Hfdar &1 arde =fids g

1. S-S

2. T b |

3. ST A BIS ST

4, oI-Ye=T



Correct Answer :-

A BEKICR|

20) &I I FO T ET @

I FO T W@

Tg1 Tfa &1 W= T8

e & o7 # Qi us Wt @ gfvan
SN TG BT T UaHS &I dlel §

S SRR BT TT HIGH $I dtel §
3(d gt IUT™ P 83 SeaTe Weweran
3R IB)-Fa1 7} B @t WR?

YUY 9gd FH § TR U
ST <IeT UT-i1 8T 31T TET 31
S PR A BIS UgTHT SHWR A T Y

STa ULl B Ugd ) fT 71T uy &1 IR Ia1s¢ :
A - Uags’ & faam g2

1. 99d

2. aNf

3. R

4. gHd

Correct Answer :-

21) T 8T IS Freiwra Rve @1 an % 32 81, 0P 31 UMA TP SasT 81 3T Ie 8 7 | THS aRIE
3ot Tt & YT A Bewerd! wEdl &1 faa &) A & # g et IS wea @1 §1 99 S 8, 8RR
T e = aiman @ 1% ag 9yt fF &, TR aad Snfa &1 9@y Wikt fie | R gwR 9 % @18
FEYTST Yelta 781 et | el diet awelt am s & 918 3 gl Gy ft sa9 auy die W 8l IF 9,
T T9g g0 U DII-Ht a1 $ A W 3§11 H 3T U TRUL-HHE! 3t B19 W iF W) $ifha w1
b, 99 T At Aay gerd wifd o R, gam 9 anffe diwrei @ Aot wgm 2@ o, g0 78 st
%%&mwﬁzmﬁ,ﬁzmﬁaﬁ%ﬁquwmﬁﬁm%l G R B
) ?

IUYaR TR Y UG -1 AT 718 9y &1 3R 9a13¢ :
TR - THTeY fhd- et G $d § 2

1. gOIR] Ui

2. Aral Hid

3. A Hid

4. P59 Hid

Correct Answer :-



22) g9 el 96 fFieTa RRe &1 a1 b 7 ), 39 3P Ui TP Fast 81 3@ 0 81 7! 39! anrd
St W & Tuar ¥ vl g 8 1 e @t iR @ # g fommer ardd aed /1 § 1 g9 94 8, SRR
T feare @ armar @ % g8 oyt 3 3, TR udad enfaa &1 9yt Uil a9 | IR geR oF % 318
TR Feftd 181 il | aral Wie vt I 3 & 916 4 gl TieHied Wi 3o+ 9ay dig W 81 ¥ 3,
T 99 g0 U DI I SR W W AW g gH U YR IRU-HHE! B BT A S W Sifhd v
T&, 9 TP 1 Iy Y w1fa & foran, gom 3t enfifes Wiareh 3t do+it wgm 3 ot qu 28 1wl
ﬁgqa%gg%l 3q g e oeft, SAfafY | R 1 & i 98 3w 99y Sryfd g1 <sy 31 1 g8 gt
g THRA?

IUYed TRIR Y UgHR 14 fT 7T Uy &7 IR Ia13¢ :
T - TR HicH [P Hea § 2

1. YTt

2. 37d H S aTelt

3. SfciRerd Hie o aretm

4, 3=I& AT

Correct Answer :-

. 3faiRe gt

23) gA w81 48 feta RTRe &1 o e T2 8, §9& 31 9 U $as? 81 39 W6 81 71! gHa aid
SOt T # THar @ weweTdl gt ¢ 1 favra o) fa @ # e fearay adie g 36T § | g9 9 8, o
T feama @ aimen @ 5 ag Ayt @ ], grerk wad enfa &1 9iut ui @9 | R geR 9 6 3
TS et =T8T et | el et ot am e & 91 9 il GeeHTed off $a1 9Hg 9iq W) T8 39 4,
T 99 g0 TF SIE-A IrE S A WR AW §1 FH AU YR IRUL-HHA! B ST T S R 3ifdha w2
I, 99 T A Ady gerd wifdd o R, ga 9 anffe diarsi @ Aol wem 3@ o, g0 38 st
frdY @ie g1 or@ qu die Wi, Sfafy | g WM & e ag 3w Tug siufd 715 <sH 81 | g g
gt 78t YpRdl?

ST TR B Ugeh 14 fAu 1T Y #1 IWwR Fasu :
U - ‘FasY B gl d Fgd 82

1. T A PIS a1

2. U

3. hed

4. PR

Correct Answer :-

24) qA w1 48 st RTRe &1 Jon e T8 81, §9% 31 A U $as? 81 39 Te 81 7! gHa aid
SOt T # THar @ wewsTdl gt ¢ 1 favra 9 fa @ # e fearey aie 9ga W61 § | g9 9 8, o
T Rare e o @ % g oyt 3 3, gRR wad enfaa &1 9yt Uil 9 1 R geR 91 5 318



HEHTIAT Ueltd 781 gielt | @l Hie il a1 $3A & 916 9 1 Qe Hied H ga= 99y 9ig IR 8! 3 3,
o= 99 g0 TP DI I H A WR AW §1 FH A U IRUL-HHA! B BT T S R 3ifdha w2
I, 99 T A Ady gerd wifda o R, ga /4 anffe diarsi @ Ao wem 3@ o, g0 38 st
ﬁg%ggﬂﬂ 39 g4 die weit, Afafy | ger M & Rre ag 3w awy syl 715 <gH 81 | g g
g THRA?

IR T B UG A1 3T 1T 9y $T IR 915 :
WA - 3Tfa &1 qad Ut e ur 2

1. QORI
2. AT

3, YT
4. Jgdll

Correct Answer :-

. YT

25) U el 98 Frdeta Rimie ®1 e b 73 81, 30@ Sl WA Us Has? ¢ 1 SW I8 81 7! 37| aira
ST AT § 9T A BBl e &1 fava & ol @ § g Ry a¥id 9ee W8T § 1 gH S 8, 8RR
T Rare e omar @ % g8 oyt i3 3, TR ad enfaa &1 9yt Uil a9 | IR geR 9F % 318
FEUTET Tl 8 gt | ara i et amn $39 F a1e 3 Sl TeHiey oY sa7 9Hg 9l W T8 I 9,
T T9g g0 U BTt a1 S A TR 3§11 gH (U U TRU-HHA! 3t 1Y T T W 3ifhd H-
Y, 99 T At Yay gl wifd o R, gam 9 anffe diwrei @ Aot wgm 2@ o, g0 38 st
ﬁgq@ggﬁn 3q g e ol Sfafy | R w1 & i 98 3= 9wy erufa o1 <rgw 31 /1 g gt
g THR?

IT TR B USHR 1 f3T 7T 9y T IR I8¢ :
U - TWRUI-BHE W DI AT TUE UG g1 82

1. TSN
2. FHYRY

3.48

4. g1
Correct Answer :-

. HHYRY

26) qH w181 48 fewta RTRe #1 Jon e T2 8, 9% 1P 9 U $as? 81 38 Te 81 71! g9 aid
SOt T # THar @ weweTd! gt 81 fava ) fa @ # g ey adiE g W8T § | g9 9 8, o
T Rare @ ormar @ % g T 39 3, gRR ad snfa &1 iyt Uil 9 1 R gRR w1 $ 1S
HRUTST Yeltd g1 it | Al died it am1 S+ & 916 d g1 gegiFied Ht sa- 90y dig W 181 ¥ 9,
T 99 g0 T SI-A arE SR W W AW §H gH AU YR IRU-HHA! B BT A S R Sifhd v
T, g TP A1 Ty g RiTfa & o, gua a8 enffe Wwreit 3t 9o gg= 3 ot gu 98t el
ﬁgq&g‘:ﬁl 3q g e o, SAfafY | R 1 & i 98 3w 99y Sryfd g1 <gy 31 1 g gt
g THRA?

Iue TRIRI Y UgHR 14 fT 7T Uy 7 IR Ia@13¢ :



U= — T8 I3’ g T 32
1. dogd

2. fae=ht
3. dH

4. QRIS

Correct Answer :-

27) JA RT3 Frewta Rve @1 on % 32 81, 0P 31 UMA TP SasT 81 3T e 8 7 | THS aRIE
ST AT § 9T A GBSl e &1 fava & ol & § g R a¥id 9ee W8T § 1 gH S 81, 8RR
T Rare e omar @ % g oyt i3 3, geR wdad enfaa &1 9yt Uil a9 | IR geR 91 % 318
FEUTEAT Tl 8 gt | aral Ha et ann $39 F are 3 Sl TeHiey oY sa9 9Hg 9 W T8 I 9,
oI 99 g0 TP B I H A W A §1 FH I R IRUL-HHA! B BTY A9 51 W 3ifdhd w%
b, 99 T At Yay gerd wid o R, gam 9 anffe diwrei @ Ao wgm 2@ o, g0 78 st
ﬁg%gﬁl g g e oeit, Sfafy | greR w1 & i g8 3= 9wy erufa g1 w31 7 g gt
g THR?

ST TR Y UGHR 1 f3T T 9y T IR I8¢ :

U — HUTGAT ST fada g 2

28) U =8I 3 Fiwra Re #1 on b W 81, T0& 31 WA Uo Sast 31 3W 38 81 7! 39 aira
uf T & T A Gewerd! TEdl &1 faa &) i & # g ey i sea w61 §1 99 S 8, 3R
TR e @ omar @ fF 9 oyt 39 8, TR ad snfag &1 oyt Uit fiF | iR g o & +ig
HRUTST Yeltd 81 il | Al die it am1 S & 916 d gl gegFied it 5o+ 90y dig W 181 3@ 9,
T 99 g0 U DI I S W W AW § gH 3 YR IRU-HHA! B BT A S 0 Sifhd v
TP, g1 T A1 Say g ®1fia o foran, g a8 enfife dwmeil t St g 3@ oft; qu a8 1t
ﬁg%;%awgq?ﬁzmaﬁ,arﬁﬁ!ﬁﬁaﬁ%mwﬁwa{mmmélwq%'ﬁnﬁ
g ?

IUY TR P UGHR -1 fGT 7T Uy HT IR a5 :
U - SIH &1 qaigars! T8 82
1. TATHT

2. fSR®
3. Y[H



4. TG

Correct Answer :-

29) H WIET 96 fFAiw T RRe &1 o e 37 8, 39 1P A TP Hast 81 48 38 ol 7! 3ad! aRia
St T & THar ¥ vl g 8 1 e @t oA @ # g forey ardd 9ed /1 § 1 g9 94 B, SRR
TR e @ omar @ 6 9 oyt 391 8, R wad snfag &1 Tyt Uit fiF | iR g o & +i8
TR Jftd 181 il | Tral Wie vt a1 3 & 916 4 gl GeeHied Wi 3a- 9ay dig W 81 9 3,
T 99 g0 U SI- arE S W W A/ §H gH 3 YR IRU-HHE! B BT A S R Sifhd w1
T, g U A1 Iy g RiTfa & o, gua a8 enffe Wwreit 3t 9o 9g= 33 ot go a8 1wl
ﬁg%jsgﬁﬂ 3q g e o, SAfafY | R 1 & i 98 3= 99y Sryfd g1 <sy 31 /1 g gt
g THRA?

ST TRIIRT BT UgHR 1 3T T Y o7 I7R 941 :
U= - g9 B HTw! ) Wie g &1 ymard g 2

1. T8 90T &1 g9 IR feu

2. gl aRgH

3. I IR H 9gd $& [ T

4. TR R Dt UL I &1 7T

Correct Answer :-

.+ WMIR T Tgd $S S T

30) gH =Rl 9% i@t RRe ®1 g e 33 81, S 3P A TP Haisy ¢l 3T ¥e 81 7 | P! arid
SOt T H THar S wewsTdl gt ¢ | favra &) fa @ # e iy aie g 361 § | g9 9 8, o
T+ fewra @ e @ 6 e it i3 8, geR wad anfaeg &1 e Wit &7 1 = gren oM fF 3
FEYTST Yefta 781 gt | el diet awelt am s & 91g d gl Gy ft sa9 9wy die W 8 IF 9,
T 99 g0 TP DI I B A W AW §1 FH AU YR IRUL-HHA! B BT A I 0 3ifdhd a1
b, 99 T At Aay gerd wifdd o R, gam 9 anffe diwrei @ Ao ggm 3@ o, g0 38 st
ﬁg%gg%ﬂ 39 g die weit, Afafy 1 g WM & e a5 3w auy syl 715 <gH 81 | g g
g THRA?

IUY e T B Ugh 14 fau T Uy H1 IWR Ta1s :
WA - 3fafy ot fra e st e b gu 2

1. Ofa feq

2. IR f&A

3. qrfeq

4. T fe

Correct Answer :-

. IrfeA



Topic:- Science (SCI)

1) If a person is not able to see an object which is at a distance more than 5m from his eye,
then the power of the corrective lens should be: /

afe B aafet et sife @ 5 fex | aiftre gt I fRUd 0P a3 #) 3@ § wad 18
2, dl TNy o9 ot fad g+ Tiee:

1.-0.2D
2.5D
3.-0.5D

4. 2D

Correct Answer :-

- -0.2D

2) What is roughage? /3%@@%%"
1. Vegetables/ﬂ'%rl'qsf

2. Grains / 3T

3. Fruits / Il

4. Food fibre / XRIRged 3Gl

Correct Answer :-

« Food fibre / XRIRIa TS

3) What is the principle behind the ball bearing? /
did 9aeT & i T Rigia @2
1. Sliding friction is greater than the static friction. /WU@ZUT, Rfae gy W%I

2. Rolling friction is greater than the sliding friction. / AfefT Tefur ftheey are ayor 3 Gm@?ﬂ
gl

3. Rolling friction is less than the sliding friction. / e WWWW@W@W%I
4. Friction increases the speed of rotation. /EI'GfUT@ T ﬁwﬁfaﬁ\‘mﬁ’r%l

Correct Answer :-

« Rolling friction is less than the sliding friction. / fefT WWG@W@W@W%I



4) What are the crops grown during the rabi season? /

&l 9 & SR S W B SIS STl 272
1. Blackgram and soya bean /Eb—lﬁﬂ%f \’rhT@TITEﬂ:T
2. Wheat and mustard /ﬁﬁeﬁww‘r

3. Maize and pigeon pea / Hdh] 3R 3G

4, Paddy and cotton / YT+ 3R HUY

Correct Answer :-

« Wheat and mustard /ﬁf@?w

5) Sickle cell anaemia is a disease that is /

I BIRST SR TH A § &) HCikd
1. infectious / GhTHD
2. developed through vectors / W%mmﬁw

3. inherited / Hﬂam

4. non infectious / ﬁ? b HD

Correct Answer :-

+ inherited / &W

6) Stainless steel vessels are provided with copper bottoms because: /
WA W & Tad-1 did & YR & 1Y feu ord § Fifb:

1. It gives a good appearance to the vessel / g g B 33T feard %I

2. Stainless steel is a better conductor than copper/@q@lﬂ@?ﬂ ?‘Haﬁ SNEL e 36(1{ Q—idlscb

gl

3. Copper is a better conductor than stainless steel / d?T‘-N, LA Td &1 SNEL H asd{
GaE® 7

4, Copper expands more than stainless steel / dnTHQ, Y I P 3fUET Gmﬁb_ﬂ?ﬂgl

Correct Answer :-

» Copper is a better conductor than stainless steel / Or>THQ, LAY T B dod-I e asdQ
REIRER]

7) Select the correct unit of energy in terms of the unit of current. /



faggq @1 518 & Heu ¥ ol &t Tt sH1S BT T FI

1. VAs

2. VA%s
3. V2As
4. VAs?

Correct Answer :-

e VAs

8) Which of the following is not the unit of work? /

Frufafea & @ v o1d 91 3915 61 o7
1. Newton metre/Tq\ET'[IﬂET

2. Joule / S[dl
3.Erg /T

4. Joule/second / Sd/AbHS
Correct Answer :-

« Joule/second / Sd/AbS

9) Electroscope is a device used to: /
TAFERDIY SUBRYT T STANT {6 forg e marr 2:
1. Test the conductivity of a material /
TS G 1 FTeTehell BT URIEUN R & ford
2. Measure the current in an electrical circuit /
faggd uRkuy & 4RT &1 Ao & fag
3. Measure the voltage across an electrical appliance /
Ueh faggd IUDHRU WR H dlecs] ol HIUA & oy

4. Detect the presence of electric charge on a charged body /

Teh SR AT IR faggd 3M1a &1 SufRfd &1 Udl o[ & forg

Correct Answer :-

» Detect the presence of electric charge on a charged body /



Teh 3TAfRIA AepTd IR faggd 3i1axr ot SufRUfd &1 udl eH & forw

10) Earthquakes can never cause: /

YU & HROT HHT g5 71 71 aoar:

o\ Y C
1. Lightning and thunder / dlSd 3R TS

2. Tsunami / ﬁ?ﬂjﬂ

3. Landslides / {1
4, Flood /dle

Correct Answer :-

+ Lightning and thunder / dfed 3R AT

11) As mass is related to beam balance, the temperature is related to: /

o TR s diW Aqad | Seftd giar 8, S3 YeR auH § SeiE 3:
1. Kelvin / $fcd

2. Barometer / SRIHIER

3. Thermometer / YHTHICI

4. Heat / 3HSHI

Correct Answer :-

« Thermometer / YHIHIER
12) The correct statement among the following is: / ffgdA ﬂﬁ DY %:

1. Dry ammonia has no effect on litmus paper / J[t AT BT ey TR IR his GHT -Ta!
gsdl

2. Curd is basic in composition / <al T H &R %
3. Solution of glucose in water is acidic / gt | W P faea e %

4. HCl is a weak acid / HCl U god 317 §

Correct Answer :-

« Dry ammonia has no effect on litmus paper / [t ST BT felemy TR WR ﬁ‘s‘ PHICE]



13) The amount of heat produced in a metal wire depends on the: /

TS YT & aR H Iafed &1 &1 7 g wR Ak wwedt 8:
1. Atmospheric pressure / dIgH IS aTd

2. Atmospheric humidity / a'l'ﬂrl?;?ﬂq TSl

3. Atmospheric temperature / dlgl-iSﬂnlq dTYHIA

4. Current passing through the wire. / dR T gaIfed URTIR

Correct Answer :-

o Current passing through the wire. / dX T ga1fed URT IR

14) Sugar can be extracted from its aqueous solution by: /

At o1 39 Sreiig i & 59 faft grT s fifa fasar smawar s:
1. Chromatography / DHIHCHITHL

2. Distillation / 3THd-

3. Evaporation / CILYERU

4. Filtration / fAda

Correct Answer :-

« Evaporation / iR

15) Calculate percentage of nitrogen in ammonium sulphate. /
A" Tethe | TG o & Uia=rd 3t T B |

1. 28%

2. 36%

3.6.02%

4.21.2%

Correct Answer :-

e 21.2%

16) Sulphur and oxygen atoms combine together in the ratio of 2:3 by mass to form an oxide.
What will be the correct formula of the oxide?
[Atomic masses: S =32 u, O =16u] /



B 3R SHTRITSH URHATY] TP TS I P forg Soqd/= gIRT 2:3 & 3JUTd H Th
TR & AT AT §1d 8 1 TS S BT A1 GF T g2

[URHATY] STHT: S =32 u, O = 16u]
1.S,0;

2. 850,

3.50,

4, SO3

Correct Answer :-
+ SO;

17) Which type of energy transformation takes place when fuel is burnt? /
Y SIATE 91 R fFH YR $T el FUiauT gidl 82

1. Chemical energy is converted into heat energy. / IS \’n\rllc, e Solf # ufvafda gl
St B

2. Chemical energy is converted into mechanical energy. / NRIBIEED do\TIT, i ol § uRafdd

RIS

3. Heat energy is converted into chemical energy. / S \‘b\ﬂT, NS SHoll # aikafdd gl
iG]

4, Heat energy is converted into mechanical energy. / ST EGL Tife ol § gikafda Bl STt
gl

Correct Answer :-

+ Chemical energy is converted into heat energy. / R IBIEET d-;UIT, ST SHor d ufkafdad gl
iG]

18) Which one of the following will take the shape of an open container in which it is kept? /

fFrafafed & 3 w1 te go U # TEH IR 3BT ATHR d A2
1. Lemonjuice./‘ﬁﬁWWI
2. Ice cubes. /@%%gﬁ%l

3. Chilly powder. / i TT3SR|
4, Oxygen gas. / St 19|

Correct Answer :-



+ Lemon juice. Fﬁﬁﬁ |

19) Which of the following is weed. /
frufufea 4 @ o9 SRuaar 3|

1. Xanthium only / P SHITH

2. All the above / STRIGd T

3. Grass only / $Had gy

4. Parthenium only / Had gy

Correct Answer :-

o All the above / maﬂ Tt

20) Which is a set of transparent material? /
YRS Tl &1 U A HIH-91 82

1. Water and air / T 3‘ﬁ? Bdl

2. Turmeric powder and water / geal U3 SR 3R gr!
3. Alum and water / fhea@sl 3R Ul

4. Charcoal and water / AR 3R TTT

Correct Answer :-

« Water and air / Tt 3R Bdl

21) One of the statements made about the formation of soil is inappropriate. Identify the
same. /

frdt & fFmfor & IR # fRw T = o @ ve ergfua 81 SR &u g B3

1. Strong winds do not play any part in the erosion of rocks. /
ol a1 TSI & Herd H dig YT 18! UK §

2. Fast flowing water carries big and small rock particles and these rub against other rocks. /
o 98d1 U1, 93 3R B TS BN &) o ST § 3R T 39 I U 718 W d g |

3. Water gets into the cracks in the rocks formed during uneven heating. When the water freezes, it

would widen the cracks./

3T AT & GRT &1 IS & aXRI & U G STl & | 516 UTHT SfF ST &, o 399 &%
EISIGEIGIE




4. Due to the exposure to sun, all the parts of the rock do not expand and contract at the same time,
cracks are formed and rocks break up. /

RS & YUS | 3 & HRUL, I & TH R BT IR0 781 8Ia 8 3R T ik 4 Jqaft
HITH T 9 H & HRUT GIR & S § 3R 98 ge St g |

Correct Answer :-

« Strong winds do not play any part in the erosion of rocks. /

Sl AT TSI & PHerd H dis YfHewT gt AU |

22) is used for making mirrors. /

_ SIYORI gUur 99 & e far srar 31
1. Silver / TiTal

2. Carbon / HT&H

3. Sodium / ASTH

4. Sulphur / Jeh?

Correct Answer :-

« Silver /dTd}

23) Which acid is used in Storage Batteries which supply electrical energy? /
fagga ot #t smyfd w3 areht R sefval § {5 sna &1 IuahT gar 32
1. Nitric acid / -3 a$ 3T

2. Hydrochloric acid / B’IE@E@W 3TFT

3. Acetic acid / Q?ﬂﬁa'? 3R
4. Sulphuric acid./ SRR 3T

Correct Answer :-

* Sulphuric acid./ W 3T

24) Which gas is pumped into plastic bags containing food items fried in oils and ghee so as to slow
down the oxidation of oils and fats? /

e 3R Y # 7 g T verd & wnfies AR # a4 3k o1 & SiTRiiHRu &1 i w1 & o forw
T @) wifeq farar smar 82

1. C02



2.S0O,
3.N»

4. Hy

Correct Answer :-

. N,

25) What is the common name of chemical NaHCO3? / EIRIBED NaHCO3; &I
AT 1 1 82

1. Lime soda / I &1 ISl (A3 Tre])
2. Washing soda / ‘(':J,ﬂl'i: HT ST (a'\ﬁl'r[@@f)

3. Caustic soda / BIRCH Grel

4. Baking soda /"@Ief CARS ] (é%ﬂ @?:T)

Correct Answer :-

. Baking soda / CIE ARSI (am@?ﬁ)

%) What is the name of the ion with the formula ClO37?

A C10;~ TTe T ST HT ATH T 82
1. Perchlorate / TRIARC

2. Hypochlorite / 81 iarc NEL

3. Chlorate / aﬂﬁ?
4. Chloride / FIRTSS

Correct Answer :-

. Chlorate / FIRC

27) Which of the following is a disadvantage of improvised science lab

appagtus?/ﬁaﬁr@aﬁﬁaﬁﬁ;ﬁmﬁaﬂmmﬁ
g 82



1. Easily available / ST Y IUTR

2. Provides cheap alternative raw materials / T% dobicd de HId USH ST 8|
3. Have good educational value / 3= Qﬁ?{@ HY ﬁl
4. Not durable / ChIS H%’f

Correct Answer :-

« Not durable / ChS '_'|—E’pf

28) Which of the following abilities is not a characteristic of a scientific problem

solver?/ﬁgmﬁﬁaﬁq?ﬁ &mmamﬁﬁmwsﬁmﬁmﬁﬁ
fa=rwar gl 82

1. Validation of results / UROTH} ST YHTON BT
2. Isolate and control the variables / TR| B JYch 3R Fdfd e
3. Convergent thinking / SHRY feid=

4. Think aloud / RITY TR ad H]

Correct Answer :-

« Convergent thinking / SR feiaq

29) Which of the following is an example of inference? / FafafRada «4

T 3THT ($H4) BT TP ISTETU 82

1. Cactus has modified leaves in the form of thorns. / écha H®ici b ®g H
=R il e B

2. Tides are caused due to the moon’s gravitation. / SAR-HTCT TEH] & {N(dIObNCUI

& HRUTBIAT G|

3. Electrolysis of water produces hydrogen and oxygen gases on two different
electrodes. / ST BT fAgd SUHCH gl TT-3HTT SATES] IR BRGNS 3R
SHTRIToH 91 &1 SdTe BT 5 |

4. Electrical appliances only work when supplied with electric current. / ﬁ_cgﬂ?[
SUHI] Had a8 BT Hd & od [d9ggd T8 & 1Y 3ATYfd b1 St gl

Correct Answer :-



. Tides are caused due to the moon’s gravitation. / SdIR-HIC] JGHI G {l%’chObBlrUI

& BPRUIBAT G|

30) Identify the lustrous non-metal. /
THBER UTY DI U B |

1. Phosphorous / BITHRY

2. Carbon / BTeA

3. lodine / 3TATSH

4. Sulphur / Hetp}

Correct Answer :-

. lodine / TS

31) A pendulum makes 20 oscillations in 10 seconds, then the period and frequency of
oscillation are respectively /

TP UgaH 10 9FS | 20 GIa+T ST 8, df gie B gy oiv rafy wosr: §:
1.2s & 2 s hertz

2.2s & Y5 hertz

3. %28 & > hertz

4.2 s & 2 hertz

Correct Answer :-

e 25 & 2 hertz

32) There are 20 naturally occurring amino acids. Out of these, 9 are essential and 11 are
non-essential. What are essential amino acids? /

WP Ta® © 0 | I FIH aTad TRAT 317 20 UHR & ld &1 379 T 9 3Ta=aS 3R 11
SETIRY® Bld & | ISP TN 37 T gId &7

1. It must come through diet / 3@ &HBWW%W@:IT ﬂli%Q
2. Itis made in our body/wmm IR ﬁ@?ﬂ%
3. It is more important than non-essential / T8 3FTaRI® & SoT HTYH AE@YUl 8 &

4. Essential for body / TR & faU sawaes



Correct Answer :-

« It must come through diet / Y 3ER H1 fgxT1 g1 A1fgq

33) When we strike the membrane of a mridangam, the sound we hear is the
sound produced by the ./

ﬁhagwﬁ%ﬁwmm%% ,digusiwAgade, s grifAfa

1. membrane onIy/W%l?c‘ﬁ

2. the drum stick/@:[m

3. whole body of the instrument/%@aﬁ?ﬁwﬁm

4. body other than the membrane /%Ic_vﬁ% R NICINBEAR]

Correct Answer :-

« whole body of the instrument/%ﬁﬂ?ﬁ%ﬁw

34) If the secondary consumer receives 10 KJ of energy ,what would be the energy at the
level of producers ? /

gfe fadiae Iuriaar 10 fraiea ol U a1 B, df SATGH! & TR W Hull fha-t grfi?
1.1KJ/ 1 fobelioa

2. 1000 KJ / 1000 fobetio[a

3. 10,000 KJ / 10,000 fdaiisa

4. 100 KJ / 100 fobetio[a

Correct Answer :-

. 1000 KJ / 1000 faio@

35) An electric current of 2A is flowing through a conductor for 10 minutes. What is the
net charge of the conductor?/

10 firTe % T Ue WaTe® & A1HH A 24 F1 fAgga YRT yarRd g1t 8| Jaes &1 =
1A fHa- 82

1. 20C
2. 1200C
3.0.02C

4.0C



Correct Answer :-

e 0C

36) When the wrist watch shows 8.10 am, the odometer of the vehicle shows 8484 km.
When the watch shows 8.40 am, the odometer shows 8500km. What will be the speed of
the car? /

gfe HaTs gSt Yag & 8.10 Fof BT IHY STl § 3R 39 THY aTg & SSHier
8484 oY, fezarar 81 afe vt Yag & 8.40 a9 &1 9wy el 8 ok sieiiier
8500 fofY, fearar 8, @ FR &1 a1 feast iz

1. 64km/h / 64 fapwil/deT
2.32km/h / 32 Tbdi/EicT
3. 16km/h / 16 fbHI/gcT
4. 18km/h / 18 fHl/EcT

Correct Answer :-

. 32km/h / 32 TpHI/AeT

37) 220V, 50 Hz ac is converted into 110V dc. The frequency of the dcis: /
220V, 50Hz T #1 110V SRA # ufvafda fear srar 21 Sih $t emgfr 3:
1.25Hz

2. 50 Hz

3.220 Hz

4.0 Hz

Correct Answer :-

e OHz

38) CANCELLED

When a light undergoes reflection, the velocity of the reflected light is always: /
W9 T YHT glafad & Torar g, ulafafad Uo7 37 "ea a8 g 8:
1. Less than the velocity of the incident light / 3TUfad UHTY & a7 J HH

2. Equal to the velocity of the incident light / 3MUfId UBT & a7 & JHH

3. Greater than the velocity of the incident light / 3Tafad UHTRI & a7 Y3



4, Depending on the material of the reflecting surface / Uidfefed gag & Jard W AR HRadr g

Correct Answer :-

« Equal to the velocity of the incident light / 3Tafad UHIRI & a7 & TAM
39) CANCELLED

Magnitude of displacement in one second is called: /

TP G s § g1 arel fauTa= & uikH101 %1 S81 ST 8:

1. Acceleration / cdRU[

2. Momentum / 3T

3. Speed / dlcl

4. Force / dcl

Correct Answer :-

» Speed /dIdl

40) Four different liquids such as mercury, water, soap solution and honey are kept in
four different vessels. Which of them will show greater temperature? /

TR - USTAf & ave SR URT, U, A9 fIaa iR q1ge &t AR eT-3erT Jd-1 § 3@l
STdT 81 379 9§ P-4 3f¥e argw feamem?

1. Honey / RIeq
2. All will have the same temperature /Hlﬁﬁww é|‘|l

3. Mercury / URT

4. Water / qr=

Correct Answer :-

« All will have the same temperature /Hiﬂﬁww él‘ll

41) Human ear can respond or sense the sound which has a frequency range /
HTHE BT, @ B G 91 39 W Ulafehar ¢ 9o ¢ et smgftr Soit gidl 8:

1.2 Hz to 20 Hz / 2 ST ¥ 20 B¢ AP

2. 2Hz to 20 kHz / 2 §eol ¥ 20 fhaligesl &

3. 20 kHz to 20,000kHz / 20 faiges ¥ 20,000 fHdges ab

4.20 Hz to 20 kHz / 20 B¢l ¥ 20 fhalgest d@




Correct Answer :-

N (o

. 20 Hz to 20 kHz / 20 ¢S ¥ 20 fhdiges a&

N

42) Identify the component of the biosphere that is biotic /

SIHUSH & AAP TedH B Ugd PIfT
1. Soil / Hal

2. Air / g4

3. Living Things / Siifdd a¥gd

4. Water / oI

Correct Answer :-

« Living Things / Sifad a<qy

43) Which group of organisms are not constituents of a food chain?
i. frog, snake, eagle, grass hopper, grass.

ii. grass, lion, rabbit, wolf.

iii. fish, plankton, grass hopper, man.

iv. snake, grass, tiger, wolf.

el ST P9 TT TYE TI &A1 HT HUCH a1 62
i. Hewm, Ui, oS, fegl, a9

ii. ¥, R, TR, g

iil. AN, Waw, feg, smeHt

iv. 97T, 9T, 919, Af$ar
l.iandiv/i 3R iv

2.iand i/ i 3R i

3. iii and iv / iii 3R iv

4. ii and iii / ii 3R ii

Correct Answer :-

« i and iv / i 3R iv

44) The time difference between the actual sunset and apparent sun set is about: /
IrRafde gui iR smuRf Jaia & &t wwg &1 siaw amT faaar @:
1. Half minute/ 3T&T fiAE



2.2 minutes / 2 ffF e
3. 5 minutes / 5 fiFe
4, 2 seconds / 2 dbS

Correct Answer :-

« 2 minutes /2 e

45) Autotrophs synthesize 10,000 KJ of energy. If the food chain consists of
four trophic levels what is the energy available to the fourth trophic level? /

WUIY® (SATEISIP) SHolt & 10,000 fraiare & Gxaftd #3d 81 afe T gaer & ar
Gif¥wdr (eifh®) WK gid € af N Nid®ar (Sifhd) R W ol fdba- gidl 82

1. 1KJ

2. 1000KJ
3. 100KJ
4, 10KJ

Correct Answer :-

e 10KJ

46) Technology should be used as a by the teacher for teaching-

learning process. /ﬁW-WMW%WWﬁT&W%W
¥ ¥U A Menfie! &1 Iuai v faar s anfge|

1. tool / SUPRUT (¢l)
2. subject / faog
3. substitute for teaching / fRremr & ﬁﬂl EIGICP

4. driver / ATAAD (STZR)

Correct Answer :-

. tool / SUHRUT (¢l)

47) During World Wars, massive industrial progress occurred. This shows that:

/ fa%y g5 & SR, 98 M W el wfa g5 1 gg awifar @ fo:

1. Science responds to the needs of society. / i.ak'll"l, TUTS B TaRIH AT Dl
yfdfohar ST g |




2. Science responds to the desires of society. / Iraill'-l, JHTS Dt awerﬁﬁtﬁ%rm

Sargl

3. Science works for the benefit of society. / IrC\NII"I, A &b ATH & %I'Q BT Bl

gl

4. Science brings progress to society only. / ERIE Had GHTSI H YAl AT %l

Correct Answer :-

. Science responds to the needs of society. / IrBIQ'II'-I, U B STaRIH AT Dl
yfdfchar ST g |

48) A law describes a/an .| U® |, T &1 qui HIaT 2|
1. set of interconnected principles / UXTUR Rygidl H13c

2. abstract 1dea / &ﬂqﬁ ICEIN

3. single phenomenon / Ydh ¢l YCHI

4. set of phenomenon / YcHIl & e

Correct Answer :-

. single phenomenon / Uch ¢ YCHIl

49) Which of the place is more safe at the time of lightning? /
afea & Tug &1 ovrg Siftre qRfda 82
1. Open fields / gal &

2. Open vehicles / Gal ATg—

3. Inside a vehicle with all windows and doors shut / JH f@?{ﬁ?—@f 3R C'v{dl\;1 §¢ dral dig- &
HiR

4. Elevated place / Gl R

Correct Answer :-

. Inside a vehicle with all windows and doors shut / I+ RaSfHal 3R eam! §¢ aTd a8 &

50) Using a science park visit is an example of : / ﬁ?l'F[ T &1 AT HIAT,
T BT TH IS8T 8



1. Experimental learning / UTGTTeh ST

2. Collaborative learning / AT S{feTH

3. Analogy strategy learning / JIERJ oIt i
4. Rote learning / & 3Ty

Correct Answer :-

- Experimental learning / Ui Sifere

51) Formulating policies, monitoring the effects of policies, enforcing
compliance with the policies, demonstrating accountability, making
comparisons and monitoring progress towards goals are conducted at: /

1, it & guTal F FRRTT @1, Ao &1 srquTad ar S,
Sraraca! eiRid ST, a1 BT 3R d&al & ufa wifar Y PR wee
T81 WX i ford oimd @

1. District Levels only / Had foTd TRl IR

2. All of the above / SUJad T
3. National Levels onIy/WT@’qEﬁW

4. State Levels only / Had I &RI TR

Correct Answer :-

« All of the above /mﬂlﬂ

52) An advanced technique to improve thinking and problem solving-skills
comprises of decomposition, i.e. breaking large problems into small units, is

known as: / T 3R THTAT B A & HIA H JUR H & foQ, TH
I9d dPp1P A faue IHRRE 8 ol fo 318 seeal A a3 guwrsi &t
a1, 39 A= wg1 wraT 8:

1. Context-Based Learning/ GeH-ametiea siferm
2. Computational Thinking/ B AATHD i
3. Crossover Learning / maha? 3T

4. Embodied Learning/ﬂﬁﬁ%ﬂ 3fRTH

Correct Answer :-

. Computational Thinking/ M a-TASD fidH



53) Evaluation can be done for all of the following objectives, Except: /

& Ryame, fAafeafeaa Tt sexal & e geaie- fear o g@ar 21

1. To know about the learning gaps in students. / SET T ST SRl b IR H
SIEE]

2. To identify the students who require remediation. / 31 E9I?|\I' &t PREIGIKCES] f\lﬂ%
SUTR P RIS §

3. To get evidences to know the extent of a student’s learning. / ot B & SifRH

Dt AT S & T aTor ured A
4. To give performance feedback to students. / S & Ye=H IR ufafesar ¢4

Correct Answer :-

« To identify the students who require remediation. / 3 ST B U HRAT ol
JUAR B AIH §

54) Which of the following should a teacher avoid while encouraging students

to develop problem solving skills? / HHXT g¢l P & PN DI fapfid $33
& fore ol @t Wicafea ®vd g¢ Riare ot FafaRea ¥ 3 foa 9 s
qfgq?

1. Provide prescriptive hints to students. / B P HCTHS Tobd UG BT
2. Encourage students to question. / S D UYIRA D fog UiTfed &A1

3. Design various types of problems. /W\?ﬁ% faftrd TR &1 %\ﬂlﬁ"l DT

4. Design problems to generate cognitive conflict. / HJTIHD TIY ITF HH b
fere et fSuirs o

Correct Answer :-

« Provide prescriptive hints to students. / SHI &1 RgRTd® ddvd U B

55) Elephantiasis is caused by: /

wiaurd = & SR g1 B
1. Worms/a'ﬁ%_

2. Mosquito / HdX
3. Protozoa /WG‘IT



4. Bacteria /aazﬁﬁm

Correct Answer :-

« Worms / ﬁ%

56) Megha scores well in physics. Sneha is equally good at the subject but is
unable to score well in school. She is most probably lacking in . /ﬁ'EITﬁ

Wifas! & o 3 U frw | [gT +ft 59 fawg & ff I+ g1 o= & afp=
?mmﬁe@siﬁmaﬂﬁﬁmﬁ%lﬁmzag H 98 SR
|

1. Conceptual knowledge / HhUATHD I

2. Procedural knowledge / UihaTad® M

3. Factual knowledge / dHTHD AT

4. Metacognitive knowledge / ACTHIRHIHD M

Correct Answer :-

« Metacognitive knowledge / J:IciI{-iQ‘II"II('J-IOI‘J NG|

57) Which of the following statements reflect a shift in pedagogy after

implementation of NCF-2005? /WECF—ZOOS & PIUYT B UATd
fFafafaa & 3 o 91 $y= Rigmema ° 9gara & g=iiar 82

1. Teaching should focus on specific disciplines./ fRreror &1 fafery fowal or e
biad B AMRT

2. Assessment should be continuous. / 3fipa FRaR ’6\I"II ﬂT%QI

3. The teacher guides and monitors the class. / TRI&& HE&T BT AN lq=f iR e
ERGIR]

4. Written tests are the only method of assessment./ fofada tlﬂ&ﬂ, 3fiHad DI
THaE fafdr gl

Correct Answer :-

. Assessment should be continuous. / 3T IERGRY m T‘alT%'QI

58) Which of the following is false about audio tapes as teaching aids? /

fufafea § A o9 Rreor Irea & T Siifsyl ¢u & faug & Tad &2



1. They can be reproduced easily. / 3 A g-: PENERISIESCE I

2. They are portable. / 3 ATl (ATd) BId 5|

3. They are expensive. / CERUNIGR]

4. They can help visually impaired students. / é ?@E’Iﬁlﬁ £9I9I\I' 550[ HGQG PR '{-Id?a %I

Correct Answer :-

« They are expensive. / G I{Eﬁ Eﬂﬁ % |

59) Which one of the following Organic acids is present in Spinach? /
frafafEa & 9 o1 a1 sdf® o<, 9rae | U o 82

1. Tartaric acid. / TRCRP 3|

2. Malic acid. / BT 3% |

3. Citric acid. / HT3fcdh 3%

4. Oxalic acid. / TGP 37|

Correct Answer :-

« Oxalic acid. / ATaTfeTh 3T

60) Even though sponge is a solid we are able to compress it and change its shape. Why? /
T WSl U 31 , 89 3/ P Id 1 3N ISP PR P dga A G&H &1 T2
1. Particles in sponge are closely packed. / TS & HUTTH §Y T gl % I

2. Sponge is a pseudo solid. / TS b B 3 %

3. Sponge is a super cooled liquid. / TS Th Jifd-=Mda 5a %I

4. Sponge has small holes with air trapped in them. / Tl & BIe-BIe %33[ " Bdl ol Eﬂ?‘ﬂ %I

Correct Answer :-

« Sponge has small holes with air trapped in them. / Tl & Bre-sie il # gar gt B



